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General Instructions :

(i) There are a total of 26 questions and five sections in the question paper.
All guestions are compulsory.

(ii) Section A contains questions number 1 to 5, Very Short Answer type questions of
I mark each.

(iii)  Section B contains questions number 6 to 10, Short Answer type I questions of
2 marks each.

(iv)  Section C contains questions number 11 to 22, Short Answer type Il questions of
3 marks each.

(v)  Section D contains question number 23, Value Based Question of 4 marks.

(vi)  Section E contains questions number 24 to 26, Long Answer type questions of
5 marks each.

(vii) There is no overall choice in the question paper, however, an internal choice is
provided in one question of 2 marks, one question of 3 marks and all the three
questions of 5 marks. In these questions, an examinee is to attempt any one of the
two given alternatives.

ogug - A
SECTION - A
1.
1
2. IR 3R g (wasp) & S U ST dTell IR fohaT &l A1 9amEU | 1
Name the type of interaction seen between fig and wasps.
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3. 3 g O SIS &l Fa12T I mRNA &l ZHAYHA 3h1E & HT o E0d 8id & | 1

Write the two specific codons that a translational unit of mRNA 1s tlanked by one on
either sides.

4.  FATERe TS O U SAfHIdl H U S STl ShIArEd! (TOTGET) THTE IS | 1

Write the chromosomal defect in individuals affected with Klinefelter’s syndrome.

5. 39 ¥ TRl g o (o1 89 39H “SIH" /&l [Helld 2 1

Why do we add an inoculum of curd to milk for curdling it ?

gueg - B

SECTION - B

(a) CFC 1 1 9 [e11Eu |
(b) TE AT ol [hd ThR AT H H=iehd Y ol & 2 2

(a) Expand CFC.
(b) How does it reduce ozone to oxygen ?

7.  HEMREd % i SRy 2
(a) cry IACSTH
(b) RNA &Ad&oT (RNAI)
Write the functions of

(a) cry 1AC gene
(b) RNA iterference (RNA1)
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.  HIIA A AT Bidl & o 3709 378 HIT & =8 § =dl & | 3§ faras SFeer T HROT
SATST | 39 UhY ohl YRR ThaT 6T ATH T §dTST | 2

Koel 1s clever enough to lay eggs in a Crow’s nest. Write the reason for this peculiar
behaviour. Name the type of interaction.

9. ¥ HUN eI Sl FT FAT Bl & Al IS0 (i) Muted & Sar &, a1 (i) Fufad =@t

gl 2 2
3rerat

TRH ARA o I 3R IRIE ARSI i A, % RN § 3¢ Fare adT 379 URgA-9& |

IATEY |

What happens to corpus luteum in human female if the ovum 1s (1) fertilized, (11) not
fertilized ?

OR

Write the difference between the tender coconut water and the thick, white kernel of a
mature coconut and their ploidy.

10. SNAGTAST & e ST FHIES o UaH (21geT) o &g HRUT TdTd gU [Gehrag day aargd | 2

State the evolutionary relationship giving reasons between the thorn of Bougainvillea
and tendril of cucurbit.

ogqug - C
SECTION -C
1. St Ufaes fostia uome ot gfear #47 faehiad w2 oid & 2 SSe0r 3 g0 Udl foel
JIFTAT ! AT i | 3

Why do hermaphrodite angiosperms develop out breeding devices ? Explain any two
such devices with the help of examples.

2. UIRREATdR 3TsRH0T 97 BiaT & 2 STIRHUT i &X Ueh U-AT MU dlele § 3120l SHTeT ohi 30 |
T U UF o7 § ¥ fhay 31iyeh dtel fd & grlr 3T =0 gF 2 3

What 1s ecological succession ? Where and why would the rate of succession be faster

in newly created pond or a forest destroyed by a forest fire ?
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3. 3= 3R i ool Mg QE-gig o1 U 39 & & | MOET W=TTeh! § Tiag &l gt o fhd
TR WeTIdT THetdl € 2 3

High yielding cattle 1s a good solution for food enhancement. How does the MOET

technology help to increase the herd size ?

14. pBR 322 FARF %X FH NG IR BT | 395 ‘ORI, ‘ROP’ 3TN i TH UTcRIel Tt
AT SIS, TAT Tk & 1 TR | 3

Draw pBR 322 cloning vector. Label ‘ORI’, ‘ROP’ and any one antibiotic resistance

site on 1t and state their functions.

15. 3K [hdl IRAR | SEIThCIAT ATHe I & 3™ ¢, a9 39 UNaR i (&l i 37Ul qou J
EMAITRTET AT B o 3TTyeh TanT &id & | 3

(a) Wﬂ%ﬁ?ﬂ%‘?
(b) T FERT o T AT TATET |

If there 1s a history of haemophilia in the family, the chances of male members

becoming haemophilic are more than that of the female.
(a) Whyisitso ?

(b) Write the symptoms of the disease.

16. HIET TR T=97 & IR o Sk TisHIiedd g 378l § TasT il & 2 39 hie § gLt
o STIeH-Th T U hilsTu | 3

At what stage 1s Plasmodium picked up by the female Anopheles ? Describe the life

cycle of the parasite in this insect.

17. I &3 H UaSTed Sl GET H U9E HRUT Fél & 6 89 3+ STo-Mehral i g #A |
TAHRA T & | THST X FATET 1o 5 T H &1 STt JUISuT S9N STA-RET Sl 3Ta%s e adl
& [ST9eh HROT SRl SATRITST ST &THdT TH & STt & | 3

Drinking water problem in our urban areas 1s caused mainly because we fail to protect

our water bodies. Explain how accelerated eutrophication chokes our water bodies to

death.
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18. 39 Ad-Th & SR 9T S ° Fetaiad 1 § g9 ool 9213t sl AT Hhifsy 3
(a) 3T T T oIk aEd 1o e [UFe 2 o &iX |
(b) TEd IS ¥ T Used TG doh TURTE H 8 JTell "2 |
(c) Tieled G 9 TohY cedd 1o b ISP H &4 dlell " |

Explain the events in a normal woman during her menstrual on during the following
days :

(a) Pituatary hormone levels from 8 to 12 days.
(b) Uterine events from 13 to 15 days.
(¢) Ovarian events from 16 to 23 days.

19. (a) HEH AR LA IRl (IR | e T4y |
(b) TTA & ST F=d o [oTT TagTY T Ush aia &Il € 2 3

(a) Differentiate between benign and malignant tumours.

(b)  Why 1s colostrum a boon to the newborn baby ?

20. AT 1 37AT [oehE o 7T TehR §HIH AT & ? HEET | 3
GG

ETSl ATeelT T AT 37 T (39 69 a1d o1 Gehd HLAT & 2 39 vl I HIEhl o A
AT ST 9l H UREdT o Tohd & | 39 U & Uaa 379 | -7 5247 81 Hehell & 9

How does the study of ftossils support evolution ? Explain.

OR

What does Hardy-Weinberg Principle of equilibrium indicate ? List any two factors that

could alter the equilibrium. What would such an alteration lead to ?

21. YR Sio-fafaear aret SEE B OReTdT F Hewequl & 31X 39! T STavdshdl ggdl & ? 3tad
ISTEYUT ohl FETIAT ¥ FHEATST | 3

Why 1s predation important and required in a community with rich biodiversity ?

Explain with the help of suitable examples.

22. (a) USHH 3 2AT H 3T Fa7:y |
(b) TEATSHS T BN & ? THeHT =9I S i Hild T {ohAT A & 2 3

(a) Differentiate between exons and introns.

(b) What 1s a plasmid ? Why is it selected as a vector ?
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gug - D
SECTION -D

23. QAT T A1 [HRRT H gHI TRl I TGTel o H FONHS YHA 3T HLAT & |
Y4 TPl H M &H & ATd T U Tped & QI [Tt & @ e Fig 3 i
FTIHY T AT TEE T 3T 4T YR 370 TheT o SMUHIRAT & hIE & TH HREHH 3TRY
T TR H 3T GHET & GIEAT [6IT S 9 | 3 1T & Hid H HRHY [HT UHK H5S
FHT ? AT SIS | 4

Peer pressure plays a negative role in triggering smoking habits in adolescents. As a
school captain list any two activities you would like to organize with the help of senior
students of your school and any other two activities you would like your school
authorities to organize for the students to tackle this problem. Explain how these
activities will help 1in doing so.

Tqug - K
SECTION - E
24. (a) UNTIREH U HEHRIRISHET i UshAT Sl SHHATT S0 iy | 3
(b) T HITITERT STl AR HIIAT Sl Uk ATHIThd 3IRE F1ET |
H2AdT

(a) HMT Tl Yehoieh ATl Hl FRIF g9 F9ET | 39 RE H Hefigd G-t 1
AT IS G413 1T TART :

G2l SHITRTERT, JEHTOTST-HT AT TS ShIeTehT |
(b) IRV il UishaT T TUegedl 37X o7 &M Sl YTHERT o SZRAT i |

(a) Describe in sequence the process of microsporogenesis in angiosperms.

(b) Draw a labelled diagram of a two celled final structure formed.

OR

(a) Draw a sectional view of a seminiferous tubule of human. Label sertoli cell,
spermatagonia and leydig cell on it and write their functions.

(b) Explain the role of pituitary and sex hormones in the process of spermatogenesis.

25. rDNA URITT! §RT g a1 & STUINT i AT Hid | 3
AT
(a) PCR & U% X 5F & (Al S0 1 a0 HifoT |
(b) TH UHR o & DNA 360 {68 1 & [T fohar STem € 2

Explain the application of rDNA technology to produce insulin.
OR
(a) Describe the different steps in one complete cycle of PCR.

(b)  State the purpose of such an amplified DNA sequence.
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26. el 3T (FE=e 3 USIvH) T oidh SO 1 T JeHEE 3G a9RY | U &l 69
TR % (e 31 fohar SITam € 2 ST Hite | E

ST

STl FAl a1l Uk el HeX &1 Ul Qa7 TR § /e SiFIREY I &l & | farg=T shid
(HEHIOTN) §T T SARSAT iU {oh ST ST [oRI0eh! o T U [T 7T Ul o dre TN &6
Y 3T Fel STHISET [hd TR FTd HT 2

Sketch a schematic diagram of lac operon in switched on position. How 1s the operon

switched off ? Explain.
OR

A tall pea plant bearing violet tflowers 1s given with 1ts unknown genotypes. Explain by
working out the crosses how would you find the correct genotypes with respect to the
two traits mentioned only by “selfing” the given plants.
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